Magnitude and direction

Gold

Two forces F1 and F are given by the vectors F, =(pi+5j) N and F, =(3i +gj) N. The resultant force,
R = F1 + F2 acts in a direction which is parallel to the vector 2i —5j.

a Find the angle, to 2 decimal places, between R and the vector 2i.
b Show that 5p + 2q = -25.

¢ Given that p = =3, find, to 2 decimal places, the magnitude of R.

Silver

For some positive constant p, the vector:
l. .
S+ Pj

iS a unit vector in a direction parallel to —3qi + 2j . Find the values of p and g.

The vectors:
—3a+4kb and 7a+b

are parallel. Find the value of k.
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